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1. Answer the'fOllOWll’lgﬁg_S,gdl:.f-Qgtg‘@;g;’T : ;;,;1><10=-10 ‘

(a) Material is the ______ element of cost.\Fill
in the blank) . o

(b) A job is a smalfconfract and g‘"a“g{)n'tras:t is
a big job. (State whether the gg;emept is true
or false) ' , '

‘(c) Cost i§™a " "*‘”anfl':‘ ﬁrji.ii’é’i’"s"‘éi“ "
(Flll in the blanks) e

-



m@) '}2 wved .

B (d) Abnormal gam appears on. the credit side

. the. P,rocess Account. (State whether the -
statement is true or false)

- (e) Which method of*valumg matenals is sultable
in times of nsmg prices ? .

(1) LIFO - (il) FIFO
‘(m) HIFQ (i,_v;.)mLo
® Cost Ledger Control Account always has a

credit balance. (State whether the statement is
true or false) ' : :

' (g) The change in costs due to. changes m the
- method: of productlon is known as’_
(Flll in the blank) ) coen

“(1) (Margmal Jeost
o (“) ReI:"lacement cost
‘.(l_ll) Differential ,.cqst‘__ ‘_ o ;-
“ ~(i\l)f 0pportumty cost.

(h) 0verhead is’ the aggregate of .
~and (Flll in the blanks)
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| (0) What is lnter-lockmg system 9 S

(d) State two lmportant featm'cs 0f PrOOeSS

(1) -Wage sheet is .prepared- by the -

(1) Personal department - .

(u) Pay-roll department |

ot . e TY S R PR L

1"['{ BT IR AE *.'fwf' + TG

(lu) Cost accountmg department
(1v) None of the above | ‘ |
1 CNES I

(Select the most appropnate on'e)7 |

(]) VED stands for (Flll in the ‘blank)

':;.g-AnSWCI' the followmg questlons ot 2><5=10

&

;:ir(a) What is meant by Cost, Accountmg ?.

,(b) Stéte the meanmg of Motion. Study m labour

cost.mg o - e T

\

costlng

(o) Whot, :islmie.a'nt :hy*absorpﬁoﬁ of 1ov%orheads ?
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3. Answer any four:of} the followmg qlfestions
- 5x4=2y"
" (a) State the essenual pre-reqﬁismes of Integrated
. Accountmg System e

G703 ),‘-J.l{ IL "»-"1 {;'”:

(b) The followmg mformatlon relate to the -

manufaetyring of @astandard prodiict during

April, 2017 :

. Cler,cin ';.!;5'-.‘,‘{"' eppand st

Raw materials® ~  Rs. 20,000

Direct labour &y, 1+ :Rs:-10,000

Machme hour rate : Rs. S

. . T
Lo LR 'Li tJ“v L ¥ ‘)

Machme hours ‘worked : 900 hours

: tAdmmlstratlve roverhiedds s 20%. ”of‘ Abrks -
cost
Sellmg Sveiticadsd v ﬁ‘s kmb(‘) peif\unlt
R ﬁUmtSJPm»duced TRE LR 17,100 units
nits sold :- ) 16,000 units ,
Sale‘price’ : o _,‘r}_;_.?‘?_‘i{ Rs 4 ger umt

“You are requlred to prepare statement of cost |
“i. showing icost and profit per unit:-$old.

(c) Cost accounting vs Financial accounting,

_.i4d) - Staté:the needs- for»reconcﬂlatton‘ of cost and |
ﬁnanc1al accounts.
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. fe)i Wntefshortfnote on Economlo Order Quantlty
T o i(EOQ)wff: A R

(1) A factorx ha8< 8: hours - 6 days a week An

- employee. takes 8 hours to, do a job on daily

wages basis and 6 hours under - incentive -

plan His day“rate is Rs. 2_per hour

"a,d\: .

Calculate h1s~wpges to be~charged—to the job
e ,under» DR Feiveriga o

&

:‘-:(m 5o (1)1 Blecq worlﬁ plan ...+

JEVE RN
»

g f,l,(mi ldolserplan gmv,s, RN
(mf) Rowan plan' o B
e“;

elB)- DlStmgulsh between. under-absorptlon and
- over-absorptlon of overheads

o BN ) 5, P
PR : P LR A N ERS YL

4 (a) How is proﬁt o an’ mcomplete contract

" “brought into “account? " " 7 5

"“-S ST

i m(b).f,\yhagas meant« by Cos,t plus conmact ?2 5

.m0 - Prioduct/XC is obtained afterit passes through
2 - two- distinct processes. 1,000 ‘units-at Rs. 3
reach ‘were mtroduced to'process L. There was

e no stock of matenals or work-m-progress at
| '6/4(Sem-.l)CAC ML (8) m,nwer



.. the beginning or at the end. of the period.

output of each process passes diréct to nexi
* process and finally to finished stores. The
following informationis obtained from the

= accounts for ‘the week endmg January 3lst

i 2017

[ RPN LT N If"ll'.f’
, Process I Process II
Direct materials 2,600 |Rs. 1,980
'Direct “wages - - - Rs 2;000" ‘Rs. 3,000 |
Output during the | 950 units 584.0 units
week . RO DA
Nomal s | s | 1w

b .
Pt .

"Production overhead is. ‘re'bb've;ed on 100 per

. cent of direct wages. Value of 'scrap per unit-
" is"Rs.2  and Rs4 for process I process I

_ respectively.
Prepare ‘Pracess T Account and Process I
Account. - 10

5 (a) What do you understand by Labour Turn-

- over-?

(b) What are the dlfferent costs of labour

. turnover ?
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Md. Rahaman 1s an employee of Robm Blue
Ltd. He is paid by the employer the following
emolunlents :

vBasw wages: (monthly) = Rs 15 000
Dearness allowance (monthly) = Rs 5 ,000 - |

Employer’s contnbutlon to Prov1dent Fund .
10% of basic pay and DA. ' '

T - SI conmbutlon by employer 5% of basic
- pay and DA - ‘

. Cost of non-monetary beneﬁts prov1ded by 3
_the- employer Rs 3 000 per month:

\

IS Number of workmg days nLa year = 250 E
,_Normal workmg hours Pel' day = 8
Normal idle tlme = 10%

o Compute the wage rate per hour for costmg

- purposes. The terms. ‘wages’ and pay are’

used in the same meaning. 10
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Explain what is meant by ‘maximum 'levgj
. ‘minimum level’ and re-ordermg level’ in the
_f"mamtenance of stock in an orgamsatlon 10

Or

From . the ‘folloWih‘g infdrmation} .calculate the
o value of closmg stock usmg , - 10
 1’(1) FTFO basns and o
'(n) LIFO basis
'-‘7:.:-:~"Open1ng s’tock as ont 142017 50,000 units
,Rate per unit apphcable Rs 7 o

- ; On 2. s.ﬁzgn = .14,.19,0/,'09 tits @, Rs. 9 per unit
On 1582017 : 125,000 wits @ Rs.8 per wit
On 13'12 “20’1’7- 93,000 units @ .Rs' 11 per unit '
o ,On 532013 65000 units @ Rs. 12 per unit

Closmg stook as on 31 3 2018 l 67 000 units.
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. (a) State the advantages of ‘Integrated Accounts’

5
(b) Dlscuss the various. basis for apportlonment
of overheads to cost centres. 3

or o

. Durmg the year ending 3lst March, 2017 .

the' factory overhead costs to three produc-'

tion departments of an orgamsatlon are as’
' under 2 . _ 10

X Rs. 48950 -

Y Rs. 89,200
Z  Rs. 64,500

The bas1s of absorptxon of overheads is glven ,

‘below :,,
: Deparlments ‘ .

X .Rs.5 per machme hour for 10, 000 hours |
'Y 75% of direct labour cost of Rs. 1, 20 ooo' |

Z Rs 4 per. plece for 15,000 pleces

: Calculate the department-wwe under-absorp-

tion or over-absorption of- overhead “and

present the data in tabular form.
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